Informational Report for the November 19, 2013 Board of Trustees Meeting

	First Name	MI	Site	New Emp to District	Duties	Division	Pay Type	Pay Rate	Maximum	Maximum Amount	•	
Chahat Callaga Cam	marinity Falsia	41										
Chabot College - Com	munity Educa	ition			To teach Beginning							
					Blues Harmonica to							
					Community	Community	Per					
Broida	David	F.	Chabot	No	Education students	Education	Student	\$19.60	12	\$235.20	11/12/2013	11/12/2013
					To teach Android							
					Applications for Beginners classes to							
					Community	Community						
Traugott	Jonathan	C.	Chabot	No	Education students	Education	Hourly	\$45.00	12	\$540.00	10/19/2013	11/2/2013
Chahat Callaga												
Chabot College						Health						
						Sciences,						
						Physical						
Bonino	Sara	A.	Chabot	No	To teach 2013-14 swimming clinic	Education & Athletics	Hourly	\$18.00	66	\$1,188.00	9/16/2013	12/31/2013
Bornito	Jaia	Λ.	Chabot	INO	To provide services	Attrietics	riouriy	φ10.00	00	φ1,100.00	9/10/2013	12/31/2013
					in set design for the							
					Theater Arts	School of the						
Hassan	Dov	A.	Chabot	No	performances	Arts	Rate	\$1,500.00	1	\$1,500.00	9/15/2013	12/31/2013
					To provide							
					specialized programming using	President's						
					BrioQuery in the	Office /						
					Institutional	Institutional						
Fetter	Lawrence	L.	Chabot	No	Research database	Research	Hourly	\$22.00	300	\$6,600.00	10/14/2013	12/31/2013
					To provides services	Health Sciences,						
					for 2013-14 clinic to	Physical						
					Community	Education &						
Kubicki	Jennifer	nmi	Chabot	No	Education students	Athletics	Hourly	\$45.00	80	\$3,600.00	7/1/2013	12/31/2013

Informational Report for the November 19, 2013 Board of Trustees Meeting

	First Name	MI	Site	New Emp to District	Duties	Division	Pay Type	Pay Rate	Maximum	Maximum Amount	Assign Beg. Date	_
Массо	Mercedes	R.	Chabot	Yes	To provide education support to Early Childhood Development for Spanish cohort students and practicum mentoring	Social	Hourly	\$15.00	30	\$450.00	11/5/2013	12/14/2013
Morales	Juan	E.	Chabot	No	To work as a lifeguard for the disadvantaged youth summer sports program		Flat Rate	\$1,500.00	1	\$ 1,500.00		
Sannebeck	Daniel	Α.	Chabot	No	To provide project services for television station operations	School of the Arts	Hourly	\$12.00	200	\$2,400.00	10/14/2013	12/31/2013
Perez Tejeda	Sandra	J.	Chabot	Yes	To provide project services for television station operations To provides services	School of the Arts Health	Hourly	\$15.00	200	\$3,000.00	10/14/2013	12/31/2013
Rubino III	Jesse	Α.	Chabot	No	for 2013-14 swimming clinic to Community Education students	Sciences, Physical Education & Athletics	Hourly	\$25.00	90	\$2,250.00	7/1/2013	12/31/2013

Informational Report for the November 19, 2013 Board of Trustees Meeting

	First Name	MI	Site	New Emp to District	Duties	Division	Pay Type	Pay Rate	Maximum	Maximum Amount	•	
Las Positas College - (Las Positas College - Community Education											
Broida	David	F.	Las Positas	No	To teach music instructions to Community Education students	Community Education	Per Student	\$15.00	20	\$300.00	11/13/2013	11/13/2013
Corzine	Christopher	J.	Las Positas	Yes	To provide services as a professional trainer for the Pharmacy Technology Program	Science, Technology, Engineering, Math & Public Safety & Career Technical Education	Hourly	\$75.00	200	\$15,000.00	11/1/2013	12/31/2013
Dorsey	Mark	P.	Las Positas	No	To provide services for Surgical Technology Program	Science, Technology, Engineering, Math & Public Safety	Hourly	\$75.00	35	\$2,625.00	12/1/2013	12/31/2013
Rodriguez Molina	Juan	D.	Las Positas	No	To provide software expertise in Statistical Package for Social Sciences, Teleform Survey Software, and Brioquery	Research and Development	Hourly	\$17.50	325	\$5,687.50	10/3/2013	12/31/2013

Informational Report for the November 19, 2013 Board of Trustees Meeting

	F:		0	New Emp to	:		Pay			Maximum	Assign	
	First Name	MI	Site	District	Duties	Division	Туре	Pay Rate	Maximum	Amount	Beg. Date	End Date
Las Positas College												
Castro	Karen	E.	Las Positas	No	To provide PRIDE training for the Foster and Kinship Care Education Program	Foster and Kinship Care Education	Hourly	\$65.00	100	\$6,500.00	1/1/2014	6/30/2014
					To provide PRIDE training for the Foster and Kinship Care Education	Foster and Kinship Care						
Evans-Mc Williams	Gwendolyn	Y.	Las Positas	No	To provide support and training to meet the requirements of the Foster and Kinship Care	Foster and Kinship Care		\$50.00	100	\$5,000.00	1/1/2014	6/30/2014
Gecox	Heike	nmi	Las Positas	No	To provide automotive training	Education Business, Computing, and Applied	Hourly	\$50.00	100		1/1/2014	6/30/2014
Hagopian	Brian	J.		No	for General Motors To provide PRIDE training for the Foster and Kinship Care Education	Foster and Kinship Care	Hourly	\$53.00	920	, , , , , , ,	8/1/2013	
Hauser	Gerry	A.		No	Program To conduct workshops for parents and	Foster and Kinship Care	Hourly	\$50.00	100		1/1/2014	6/30/2014
Hauser Kyer	Gerry Beverly	A.		No No	Program To conduct workshops for	Education Foster and	Hourly	\$50.00 \$75.00	100		1/1/20 1/1/20	

Informational Report for the November 19, 2013 Board of Trustees Meeting

				New Emp to			Pay			Maximum	Assign	Assign
	First Name	MI	Site	District	Duties	Division	Type	Pay Rate	Maximum	Amount	_	End Date
					To any data total							
					To provide initial	Fastan and						
					training for the PRIDE program for	Foster and Kinship Care						
McMillan	Rosalind	D.	Las Positas	No	foster parents	Education	Hourly	\$65.00	100	\$6,500.00	1/1/2014	6/30/2014
iviciviillari	Nosaiiiu	D.	Las Fusitas	INO	loster parents	Foster and	riourry	φ03.00	100	ψ0,300.00	1/1/2014	0/30/2014
					To provide support	Kinship Care						
Powell	Yvette	L.	Las Positas	No	for PRIDE classes	Education	Hourly	\$22.00	150	\$3,300.00	1/1/2014	6/30/2014
					To provide PRIDE		,	,		. ,		
					training for the							
					Foster and Kinship	Foster and						
					Care Education	Kinship Care						
Roberts-Brewer	Akilah	٧.	Las Positas	No	Program	Education	Hourly	\$65.00	100	\$6,500.00	1/1/2014	6/30/2014
					To provide initial							
					training for the	Foster and						
Otania Fallin	Davila		L D '1	NI.	PRIDE program for	Kinship Care	I I a contro	# 50.00	400	ФЕ 000 00	4/4/0044	0/00/004 4
Stewart-Felix	Paula	D.	Las Positas	No	foster parents To conduct	Education	Hourly	\$50.00	100	\$5,000.00	1/1/2014	6/30/2014
					workshops for	Foster and						
					parents and	Kinship Care						
Wells	Karen	R.	Las Positas	No	caregivers	Education	Hourly	\$75.00	100	\$7,500.00	1/1/2014	6/30/2014
	1 1000 011						,	4 10100		V 1,000100	,,,,	
District												
					To provide special							
					project services, as							
					needed, for the							
		_	5		Board of Trustees	Chancellor's	l	#	0	***	1/0/00:	0/00/00:
Bailey	Beverly	F.	District	No	and Chancellor	Office	Hourly	\$50.00	650	\$32,500.00	1/2/2014	6/30/2014